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QUESTION 1

Which two high availability features preserve interface and kernel information during reconvergence? (Choose two.)
A. graceful restart (GR)

B. nonstop bridging (NSB)

C. nonstop active routing (NSR)

D. graceful Routing Engine switchover (GRES)

Correct Answer: CD

QUESTION 2

In a stateless IPv6 auto-configuration scenario, what is the host\\'s IPv6 address if the interface\\'s MAC address is
12:34:ab:cd:ef:567?

A. fe80::1234:abff:fecd:ef56/64
B. fe8::1234:abff:fecd:ef56/64
C. fec0::1234:abff:fecd:ef56/64
D. fe80::1234:abcd:ef56/64

Correct Answer: D

QUESTION 3

Click the Exhibit button.
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[edit interfaces]
user@router# show

ge-0/0/0 {
unit 0 {
family inet {
address 10.1.1.5/31;
}
family mpls;
}
}
ge-0/0/1 {
unit 0 {
family inet {
address 10.1.1.21/31;
}
family mpls;
}
}
lo0 {
unit 0 {

family inet {
address 192.168.0.2/32;
}

}

[edit protocols bgp group BGP]

userfrouter# show

multihop;

local-address 192.168.0.2;

hold-time 30;

family inet {
unicast;

}

family inet-vpn {
unicast;

}

family ineté {
unicast;

}

family ineté-vpn {
unicast;

}

family 12vpn {
signaling:

}

family route-target:;

peer-as ©5514;

local-as £5514;

neighbor 192.168.0.1;
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Referring to the exhibit, which two statements are true? (Choose two.)

A. The configuration is for an external BGP session

B. The local-address statement is required for the BGP session to establish correctly
C. The multi-hop statement is required for the BGP session to establish correctly

D. The configuration is for an internal BGP session

Correct Answer: BD

QUESTION 4

Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link?

A. fate-sharing

B. explicit null configuration

C. policy control over LSP selection
D. LSP metrics

Correct Answer: A

QUESTION 5

Click the Exhibit button.

JNO0-362 VCE Dumps | JNO-362 Practice Test | INO-362 Study Guide 41/5


https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html

VCE & PDF https://www.passapply.com/jn0-362.html
2024 Latest passapply JNO-362 PDF and VCE dumps Download
PassApply.com

[edit] [edit]
user@rl# show interfaces user@R1l# show routing-options
ge-0/0/0 { rib inet&.0 |{
unit 0 { static {
family ineté { route 2001:0:0:2::0/64 next-hop gr-0/0/0.0;
address 2001:0:0:1::2/64; ¥
} }
} static {
1 route 0.0.0.0/0 next-hop 10.0.1.1;
gr-0/0/0 { route 192.168.1.2/32 next-hop 192.168.100.2;
unit 0 { }
tunnel {

source 192.168.1.1;
dastination 192.168.1.2;

}

1
gae-0/0/1 {
unit 0 {
family inet {
address 192.168.100.1/24;

192.168.100.0/24 — 2001:0:0:2::0/64

ol | dif )
oo E
R2

2001:0:0:1::0/64

}
}
}
fup0 {
unit 0 {
family inet {
address 10.0.1.12/24;

}

You have configured IPv6 over IPv4 tunneling, as shown in the exhibit. However, hosts connected to network
2001:0:0:1::0/64 cannot communicate with hosts on network 2001:0:0:2::0/64. The router R2 has a similar configuration
as the R1 router.

How would you solve this problem?

A. Configure an IGP across the tunnel interfaces

B. Configure an IPv6 address on the tunnel interfaces

C. Configure the next hop of the inet6.0 static route to point to the physical interface between the routers

D. Configure the next hop of the inet6.0 static route to point to the IPv4 address of the remote router

Correct Answer: D
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